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Java BN

import java.util.Scanner;

class web {

left = sc.nextInt();
right = sc.nextint();

System.out.printf(

0

|apples = left + right;—

A

|

public static void main(String[] args) {
int left, right, apples;
Scanner sc = new Scanner(System.in);
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left+rightRy %5 5%

, left, right, apples);
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G port java.util.Scanner;

class web {

int apples = 10;

}
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public static void main(String[] args) {

[apples = apples + 10; L_ %pplzsxmz_r# apples+10 -
E

System.out.printin(apples);
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mort java.util.Scanner;

System.out.printf("%d <=> %d\n",a, b);

~

class web{
public static void main(String[] args) {
inta =3;
int b =3;
| a=a+10; | HE a+=10 sid a=a+10
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I b +=10; |

} —
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3+4=7

%d+%d=%d |

System.out.printf("%d + %d = %d\n", left, right, apples);
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